


$$7 \cdot (10 - 4) = \square$$

$$91 - (52 + 33) = \square$$

$$20 : (9 - 4) = \square$$

$$4 \cdot (0 + 2) = \square$$

$$70 : (3 + 7) = \square$$

$$8 \cdot (8 - 0) = \square$$

$$86 - (6 + 8) = \square$$

$$18 : (4 - 1) = \square$$

$$8 \cdot (3 + 7) = \square$$

$$54 : (1 + 5) = \square$$

$$2 \cdot (10 - 1) = \square$$

$$82 - (4 + 72) = \square$$

$$10 : (7 - 5) = \square$$

$$3 \cdot (2 + 8) = \square$$

$$54 : (3 + 6) = \square$$

$$9 \cdot (6 - 2) = \square$$

$$19 - (6 + 2) = \square$$

$$35 : (10 - 5) = \square$$

$$2 \cdot (2 + 7) = \square$$

$$40 : (2 + 6) = \square$$

$$4 \cdot (10 - 7) = \square$$

$$76 - (23 + 10) = \square$$

$$24 : (8 - 0) = \square$$

$$7 \cdot (3 + 6) = \square$$